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CHEMISTRY

BOOKS - MARVEL CHEMISTRY (HINGLISH)

QUESTION PAPER - 2018

1. A certain reaction ocuurs in two steps as
(n 2502(9) + 2N02(g) — 2503(9) + 2N0(g)
(ZZ)2N0(9) + Oz(g) — 2N02(g)

In the reaction ,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Aya39nMD41UK

A. NOy4) is intermediate

B. NO ( is intermediate

g)

C. NO y) is catalyst

D. 02(9) is intermediate

Answer: B

° Watch Video Solution

2. Which among the following equations
represents the first law of thermodynamics under

isobaric conditions ?


https://dl.doubtnut.com/l/_Aya39nMD41UK
https://dl.doubtnut.com/l/_eaSeHCfVLAnH

AAU = q, — P, - AV

B.q, = AU

CAV =W

DW = —g¢q
Answer: A

° Watch Video Solution

3. During galvanisation of iron. Which metal is

used for coating iron surface ?

A. Copper


https://dl.doubtnut.com/l/_eaSeHCfVLAnH
https://dl.doubtnut.com/l/_UpeAFrdij2f9

B. Zine

C. Nickel

D. Tin

Answer: B

° View Text Solution

4. Formation of PCl; is explained on the basis of

what hybridisation of phosphorus atom?

A SP?

B. SP3


https://dl.doubtnut.com/l/_UpeAFrdij2f9
https://dl.doubtnut.com/l/_M1H3OOSVF6xA

C.SP3d

D. SP3d?

Answer: B

o Watch Video Solution

5. Identify the element that forms amphoteric

oxide.

A. Carbon

B.Zine

C. Calcium


https://dl.doubtnut.com/l/_M1H3OOSVF6xA
https://dl.doubtnut.com/l/_Az2Jp9xxLwWh

D. Sulphur

Answer: B

° Watch Video Solution

6. Identify the product 'C' in the folowing reaction.

(CH5CO) ,0 Br, H" or OH~
Aniline > A > B y C
Pyridine CH3COOH

A. Acetanitide

B. p- Bromaacetanilide

C. p- Bromoniline

D. o- Bromoaniline


https://dl.doubtnut.com/l/_Az2Jp9xxLwWh
https://dl.doubtnut.com/l/_ogCoY3M5flnM

Answer: C

° Watch Video Solution

7. ldentify the functional group that has electron

donating inductive effect.

A.—COOH
B.—CH
C.—CH;

D. — NO,

Answer: C


https://dl.doubtnut.com/l/_ogCoY3M5flnM
https://dl.doubtnut.com/l/_E5hEuWuzDd3T

o Watch Video Solution

8. Which among the following metals erystallise

as a simple cube ?

A. Polonium

B. Iron

C. Copper

D. Gold

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_E5hEuWuzDd3T
https://dl.doubtnut.com/l/_9LTciteFBC1f

9. Which among the following oxoacids of
phosphorus shows a tendency of
disproportaonation ?

A. Phosphinic acid (H3PO,)

B. Orthophosphoric acid (H3 PO,)

C. Phosphonic acid (H3POs)

D. Pyrophosphoric acid (H4P,Or)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9LTciteFBC1f
https://dl.doubtnut.com/l/_wAouReSMLwHP

10. What is the oxidation number of gold in the
complex [AuCly]' ™ ?

A +4

B.+3

C.+2

D.+1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xzEQ7MqtvTvc

11. Which symbol replaces the unit of atomic mass,

amu ?

B.A

C.M

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XVtWo2VwrzVA

12. Which of the following compounds reacts

immediately with Lucas reagent ?

A CH;CH,0H

B. CH,CH,CH,OH

C.CH; — CH — CH,
|
OH
CH;

|
D.CH; — C — CHj
|
OH

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IQbt0lqOGfHG
https://dl.doubtnut.com/l/_bFmabbSnwotU

13. What is the catalyst used for oxidation of SO2

to SO3 in lead chamber process for manufacture

of sulphuric acid ?

A. Nitric oxide

B. Nitrous oxide

C. Potessium oxide

D. Dilute HCI

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bFmabbSnwotU

14. The number of moles of electrons passed
when current of 2 Ais passed through an solution

of electrolyte for 20 minutes is

A.4.1x10"% mole™

B.1.24 x 1072 mole™

C.2.487 x 102 mole™

D. 2.478 x 10 'mole ™

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_K68SZIuwhcMk
https://dl.doubtnut.com/l/_KJsP2rWqxPVh

15. The molarity of urea (molar mass 60 g mol %)
solution by dissolving 15 g of urea in 500 em?® of
water is

A. 2mol dm ~*

B. 0.5mol dm ~*

C.0.125mol dm ~3

D. 0.0005 mol dm 3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KJsP2rWqxPVh

16. Which carbon atom of dexyribose sugar in DNA

|
does not contain —C — OHbond ?
|

A. Cs

B. Cs

C. O

D. C;

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_O761QGnfqaMW

17. Which of the following carboxylic acids is most
reactive towerds esterification ?

A. (CH3)3CCOOH

B. (CH3)2CHCOOH

C.CH;CH,COOH

D. (CoHy),CHCOOH

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_FOyQsduoDZM5

18. Molarity is defined as

A. the number of moles of solute present in 1

dm3 volume of solution

B. the number of moles of solute dissolved in 1

kg of solvent

C. the number of moles of solute dissolved in 1

kg of solution

D. the number of moles of solute dissolved in

100 dm? volume of solution

Answer: A


https://dl.doubtnut.com/l/_ydJVQ6K6gPv5

o Watch Video Solution

19. Which of the following carboxylic acids is a

tricarboxylic acid?

A. Citric acid

B. Malonic acid

C. Succinic acid

D. Malic acid

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ydJVQ6K6gPv5
https://dl.doubtnut.com/l/_iCceZy21F038

20. What is the number of donar atoms in

dimethylglyoxinato ligand ?

A1l

B.2

C.3

D. 4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iCceZy21F038
https://dl.doubtnut.com/l/_2XlxY8dCrdTA
https://dl.doubtnut.com/l/_PRxiQxR5Sy3E

21. In which substance does nitrogen exhibit the

lowest oxidation state ?

A. Nitrogen gas

B. Ammonia

C. Nitrous oxids

D. Nitric oxide

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_PRxiQxR5Sy3E

22. Which of the following is most reactive

towards addition reaction of hydrogen cyanide to

form corresponding cyanohydrin ?

A. Acetone

B. Formaldehye

C. Acetaldehyde

D. Deethylketon

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ExX1sWFwtkXO
https://dl.doubtnut.com/l/_axRbOYzw7e2Q

23.The most basic hydroxide from the following is

A.Pr(OH),(Z — 59)
B.Sm (OH),(Z = 62)
C.Ho (OH),(Z = 67)

D.Lapy _ (3)(Z = 57)

Answer: D

° Watch Video Solution

24. Define density .What is the Sl unit of density ?

(b) Define relative density .What is the SI unit of


https://dl.doubtnut.com/l/_axRbOYzw7e2Q
https://dl.doubtnut.com/l/_ZbNEORrzP2t4

relative density ?
The density of turpentine is 840kg /m?>What will

be its relative density ? (Density of water

= 1000kg / m*)

A.gcm_3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZbNEORrzP2t4
https://dl.doubtnut.com/l/_zl90MraCP0cS

25. Which of the following compounds does not

undergo haloform reaction ?

A.CH; — CH — CH,
|

OH
B.CH; — C — CHj3
g
C.C2H; — CH — CyHs
O|H
D.CHs — ﬁ' — CoHj
0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zl90MraCP0cS

26. Two moles of an ideal gas are allowed to
expand from a volume of 10dm? to 2 m3 at 300 K
against a pressure of 101325 kPa. Calcualte the
work done.

A. —210.6kJ

B. 13.22kJ

C. —810.6J

D. —10.96kJ

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sqUcyB3aMwS0

27. Among the following solids, Schottky defect is

NOT observed in-

A.ZnS

B. NaCl

C. KClI

D. CsCl

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6ayNDnKlenzt

28. What are the products of auto-photolysis of

water?

A. H, and O,
B. Steam
C. H30+ and OH_

D. Hydrogen peroxide

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2EFe9FZDNFrH

29. Bauxite, the ore of aluminium is purified by

which process ?

A. Hoope's process

B. Hall's process

C. Mond's process

D. Liquation process

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UIYP2VFVMsZz

30. Phenol in presence of sodium hydroxide reacts

with chloroform to form salicyladehyde.

The reaction is known as

A. Kolbe's reaction

B. Reimer - Tiemann reaction

C. Stephen reaction

D. Etard reaction

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Gsz96ZWiGeTp
https://dl.doubtnut.com/l/_y8MSlJXIVtOH

31. Which among the following elements of

groups-2 exhibits anomalous properties ?

A. Be

B. Mg

C.Ca

D. Ba

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_y8MSlJXIVtOH

32. Excess of ammonia with sodium hypochloride

solution in the presence of glue or gelatine gives

A. NaNH,

B. NHyNH,

C. N,

D. NH,CI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rfTAxxGUn4rO

33. What is the density of solution of sulphuric
acid used as an electrolyte in lead accumulator ?
A.1l5 gmL™!
B.1.2 gmL !
C.1.8 gmL™!

D.2.0 gmL !

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_G5Xb4QQfmkge

34. Which of the following polymers is used to

manufacture clothes for firefighters ?

A. Thiokol

B. Kevlar

C. Nomex

D. Dynel

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_RaaLTuLGNom9

35. Which element is obtained in the pure from by

van - Arkel method ?

A. Aluminium

B. Titanium

C. Silicon

D. Nickel

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_txqEhziCGWNG

36. Which of the following is not a tranwquilizer ?

A. Meprobamate

B. Equanil

C. Chlorodiazepoxide

D. Bromopheniramine

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8M7xBZxWo8U6

37. Conversion of hexane into benzene involves

the reaction of

A. Hydration

B. Hydrolysis

C. Hydrogenation

D. Dehydrogenation

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uJ0meeqC7pHS

38. The element that does not exhibit allotropy is

A. Phosphorus

B. Arsenic

C. Antimony

D. Bismuth

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6ubYBgQ7VgRM

39. Which one of the following reactions is used

to prepare aryl fluorides from diazonium salts and

fluoroboric acid ?

A. Sandmeyer reacion

B. Balz - Schiemann reation

C. Gattermann reaction

D. Swarte reaction

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Y3c21WvHtH4b
https://dl.doubtnut.com/l/_dnMitK8H2GKE

40. The correct relation between elevation of

boiling point and mass of solute is

A. M2 — Kb : W2
AT, - W,
B. M, = Ko - W
ATy - K,
CMy=—"-F-
W1 - Wa
AT, - W-
D. M2 — b 1
Ky - Wy
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dnMitK8H2GKE

41. Which among the group-15 elements does not

exists as tetra atomic molecule ?

A. Nitrogen

B. Phosphorus

C. Arsenic

D. Antimony

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ehEwCX6dYdhy

42. |dentify the monosaccharide containing only

one asymmetric carbon atom in its molecule.

A. Ribulose

B. Ribose

C. Erythrose

D. Glycaraldehyde

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xjIQpuB7180O

43. Identify the oxidation states of titinium (Z=22)
and copper (Z=29) in their colourless compounds.
AT3T, Cu?™
B.Ti*", Cu®™"
C.Ti*", Cul™

D.Ti*", Cu?™

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AfsxpsJQ5u8r

44, Arenes on treatment with chlorine in presence

of ferric chloride as a catalyst undergo what type

of reaction ?

A. Electrophilic substitution

B. Nuclephilic substitution

C. Electrophilic addition

D. Nuclephilic addition

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_20jgbzX8n7Kh
https://dl.doubtnut.com/l/_TfoED303SWMQ

45, In case of R, S configuration the group having

highest priority is

A.— NO,
B.— NH,
C.—CN
D.—OH
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_TfoED303SWMQ

46. Lactic acid and glycolic acid are the monomers

used for preparation of polymer

A. Nylon-2-nylon-6

B. Dextron

C. PHBV

D.Buna-N

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qcT7NzrE2IxY

47. What is the geometry of water molecule ?

A. Distorted terahedral

B. Tetrahedral

C. Trigonal planer

D. Diagonal

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xhfFSvijYSOm

48. Which of the following reaction of alkanes is

explosive ?

A. Fluorine

B. Chlorine

C. Bromine

D. lodine

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DMiNgySJcaat

49, Calculate the work done during combustion of
0.138 kg of ethanol, C2H5OH([) at 300 K.
Given : R 8314 JK 'mol~!, molar mass of
ethanol = 46 gmol !

A. —T482J

B. 7482J

C. —2494J

D. 2494 |

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QWqIgaVmY5YL

50. Slope of the straight line obtained by plotting
log,, k against 1/T represents what term ?

A —E,

B.—2.303E, /R

C.—FE,/2.303R

D.E,/R

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_W4UWrf0DMCHM

